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Q1. A menu has a choice of 3 starters, 5 main courses and 4 desserts.

How many different choices of a 3-course meal are possible?

Circle your answer.
12 23 ‘ 60 ) 972

Q2. Here is the velocity-time graph of a car for 50 seconds.
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(@) Work out the average acceleration during the 50 seconds.

Give the units of your answer.  § () m\S O-b st
SO [2]
(b) Estimate the distance travelled the last 30 seconds.
ouree- undw - 5 (1K <30) X330 = FE5M (2]
Q3. Convert 0.172 to a fraction in its lowest terms.
Zeonpne e .
e A A "o u (3]

Q4. Expand and simplify (2x + 5)(2x — 5)(3x + 7)
toct-1Qee?t W -1 . )
Loo?-25)(3xt?) /9 129¢° + 282% -5 -13S
\2% « 28 - ¥S2-135 -

Q5. Use the quadratic formula to solve 5x2 + 11x — 2 = 0 Give your solutions to 2 decimal places.

x-= '&ﬁm ¢ = =W ff_dJm"Lqu-Z e - St
a 2x S \O
a_rsa-f.rl, CJ"Z 2C_ - -\ -QJ \e\ = O‘lq o& %‘\l"llb! 3[3012.34
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Q6. Which expression gives the area, in cm?, of this triangle?
K a_banc
Circle your answer. -1 &x 1O x SU\C

Not drawn
accurately

(1]

80 sin x ( 40 sin X S

80 cos X 40 cos X 10 cm

Q.7 A sequence of numbers is formed by the iterative process a,,; = (a,)? — a,
a) Describe the sequence of nhumbers when a;, =1 Qg s 12 10 a3 -0 &a«-0

Show working to justify your answer.

Wun o sedesof cosos. [1]
b) Describe the sequence of numbers when a;, = -1 aL :u)l_ -L = 2
Show working to justify your answer. ab = zl-z, = Z
O =2t-272

OV Wan oo senweof 2s (2]
c) Work out the value of a, when a; =1 - 2
QR = CLJZ)" ,Q-J'Z)
= (-§Z-§Z+2 -\ 402 [2]
= 2-12

Q8. The diagram shows the circle

xX+y2=10 OO =»ro

P lies on the circle and has x-coordinate 1
The tangent at P intersects the x-axis at Q.

Work out the coordinates of Q.

gammd’ 5 =3

C = 3% U 2 4 -(_‘jx/tg‘ e

L = O (5]

= QOLC))
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Q9. A box is a cuboid with dimensions 27 cm by 15 cm by 20 cm
These dimensions are to the nearest centimetre.

DVD cases are cuboids with dimensions 1.5 cm by 14.3 cm by 19.2 cm
These dimensions are to the nearest millimetre.

20cm

15cm

27 cm 1.5¢cm

19.2 ecm

14.3 cm

265¢ > za-s s V1SS

Show that 17 DVD cases, stacked as shown, will definitely fit in the box.

2b-5 *1-S5 = 11-097
so V3wl dujpudy hx

Q10. Rationalise the denominator and simplify %

10X E - te{g s tOf?, =z

gl{s x 5 3xd 12

Q11. Tony and Ian are each buying a new car.
There are three upgrades that they can select:

M« metallic paint (10 different choices) 16
G e alloy wheels (5 different choices) X S
My ¢ music system (3 different choices). X 3

a) Tony selects all 3 upgrades.
Show that there are 150 different possible combinations.
6rscd = LSO
b) Ian selects 2 of these upgrades.

Show that there are 95 different possible combinations.

MO <« ‘™M X YNV <+ OLxX MY
WOxS = WO xd A Sx3

O+ \ =
SO =+ 3 S Qs

[4]

253

[2]

[1]

[3]

Not a predicted paper ... I'm a practice paper! collated from AQA sample/spec etc questions



Q12. B, C and D are points on a circle. %0
Ct?)ﬁ%w - Not drawn

accurately

Angle ABC = 92°

Angle ACB = 38°
Angle ACD = 50°
Angle CDE = 32°

Give a reason for each answer.

Statement True False

AC is a diameter

Reason anag %C wrub‘{@ow AC W&W
oswoslole AD WMW - Qa0°)

Statement True False

Angle ADC = 88° /
Reason W}_ﬂ, w_ﬂo NGO %*AL WOOOKW
{o

Statement True False

ABCD is a trapezium \4
Reason k) ang. DC asCperalldl .

Statement True False

DE is a tangent to the circle ‘/

Reason Yy WUL&:"
PAC - L.l,Q,e i LPJM/&“W [4]
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Q13. The area of a right-angled, isosceles triangle is 4 cm ? = <

Work out the perimeter of the triangle in centimetres.  Give your answer in the form a + b/c,
where a,b and c are integers.

x m d?—:_x}ex} Pe(ww-’ s J’E’tf?*,'-l-

=8 t&
= s = L'I"tm
7C, I'; a -4 =« 2);1'6-
- [4]
* a+uiZ
Q14. Show that 2= Y5 w(B3w? —16w +5) 1S. —

w2 - 25 w2 +3w+2

aw b 30 9L -l S
Simplifies to —

2Lw where a, b, c and d are integers. 303(,93 —S)-LCw-S)
Quw T ) L€S x (Bus-1) 5T

Mﬂ/ﬂ Cwo+i) ¢><7) T

o = b b: = Z
=Y 2 (3s-1) . buw-2 c-1 d=|
(G o ot i
[5]
Q15. Solve 5x —y =5 Y- Sx - S % = 10 -LO
2y — x2 =11
You must show your working.
Do not use trial and improvement.
\O2c- \O -2t = L\ xS = =3
=\ s SO
2020 « 2170 Jd © Jd
(oc-3) (-3 =6
[6]
Q16. a) Solve the inequality —x <9 3£,$ L8
[2]
b) Solve the inequality 4 (x +2) > 12
x¢2 0 D
x 2l [2]

c) Represent the solution set that satisfies both answers to parts (a) and (b) on the number line.

[ [ [ [ [ [ I I I I I I I =x
0 1 2 3 4 5 6 7 8 9 10 M1 12

[1]
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Q17. A, B, C and D are points on a circle, centre O.
AC is a diameter of the circle.

AT is a tangent to the circle.

Not drawn

Work out the size of angle x and the size of angle y. bzl

4 OAD 130 -2 : 108
082 - Sk x: 60

Q18. Write V12 + 172 in the form avb where a and b are prime numbers

Jef3 + 803

—_—

{343

lB-L_léBg : 23 .83 - A3 "

Q19. A circle has diameter 10 cm A square has side length 6 cm

—

Not drawn
accurately

L T2

% & x -2
se =432

<— 6cm —>

Use Pythagoras’ theorem to show that the square will fit inside the circle without touching the

edge of the circle.
ICc = (a-i ( DUV\
so wld At wvvude

[3]
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Q20. The graph y = a + bx - x? is shown.
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(a) Circle the coordinates of the turning point of the curve.
('21 0) (01 12) (2I 16) (6I 0)
[1]

[1]
-2 16 6

(c) Circle the two roots of a + bx - x>= 10

2 and -6 2and 6 -2 and -6
[1]

(b) Circle the value of a.
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Q21. The region R satisfies the three inequalities
X
x>-3 x+y<g?2 y>§—1

Show the region R on the grid.
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[4]
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Q22. AED is a straight line.

Not drawn
accurately

A
AE =a+3b
EB =-a+b

\)

a) Work out the vector AB Lt Sb &t b

b

[1]

_ =

b) Also ED =§AEand DC=—§a

Prove that EC is parallel to AB.

< - "La
23D (}L&féb) 3

L%«&bv%& - b. B
:'AésLLEC so M ora i ace paalladl

Not a predicted paper ... I'm a practice paper! collated from AQA sample/spec etc questions



